REREZAJREBEFBRIZOVTHEBR - IUE-Z2DI)

METEES D L
2255
100Bg/ kg% X 5L D0
BREHE
No BT FEE HElniELE trL-134 t 9 L-137 EEE
Ba. kg Bg. kg Ba ke
1 A= R6.6.10 [RARLULM=F (FEER BRHEE9(<3.9) BHEE9(<3.6) BRHEEY
2 T 4ERET R6.6.12 BEARLUL=F (FEER BRHEE9(<3.3) 8.90 8.9
3 T 4ERET R6.6.12 FREARLW=1F (5% BREE9(<4.0) 10.6 11
4 SEHWTH R6.6.10 BEERLULM=T (FE% BRHET(<42) BRHET(<3.2) - Janpcc N
5 At R6.6.10 BEERLULM=T (E% BRHEE9(<43) BREE9(<4.2) - Janpcac N
6 R UG R6.6.12 BEERLULM=T (FE% BRHET(<4.6) BRHET(<3.4) - Janpcc
7 PSR R6.6.11 BEREHZ (FEER) BREE9(<48) BRHEE39(<L5.5) L Janpcac N
8 JI{RHT R6.6.11 BERESHIF (FEER) BRHET(<2.9) BRHEET(<24) BRHEY
9 TS EET R6.6.11 BERESHIF (FEER) BRHEE9(<3.0) BREE9(<2.2) L Janpcac N
10 TS EET R6.6.11 BERESHIF (FEER) BRHET(<3.2) BRHEET(<2.1) BRHET
11 RIGH R6.6.12 BRELSIT (HEER) BHEEY(<L26) BRHEEY(<27) BHEY
12 =i R6.6.10 BRELSIT (HEER) BRHE9(<3.2) BRHEE3(<2.7) BREEY
13 =Yg R6.6.10 BRELSIT (HEER) BHEEY(<34) BRHEEY(<26) BHEY
14 EREE AT R6.6.10 HoU G BREEI(<44) 4.30 43
15 EREE AT R6.6.10 HhoU () BRHEE3(<5.3) BRHE9(<4.6) BHEY
16 AREEFT R6.6.10 HoU Gk BRHET(<L5.8) 5.54 55




BRERER

No b1 A APlniESE i 1-134 t 9 L-137 EEE
Ba. kg Ba. kg Bqg. kg

17 EREEAT R6.6.10 HoU (FHEE) BRHEET(<41) 5.42 5.4

18 FESEET R6.6.10 HoU(B4E) BRHEEY(<4.9) BRHEY(<3.8) BRHEEY

19 FSEET R6.6.8 AE(FHE) BmHEEY(<5.5) BRHET(<5.0) BRHEEY

20 iR THT R6.6.7 ShIEHES (F4E) BRHET(<4.0) BRHET(L3.1) - g

21 RIGH R6.6.9 =10 (Bp4) BREE9(<4.5) 15.8 16

22 T 4ERET R6.6.10 =D (B4) BREE9(<5.2) BRHEE9(<3.6) ‘9

BRBEEICBTA—BREROEEE 9L 100Bg/kg(E> 9 L-134, £ H L-13TDEEIE)
XKEEME: 2PV L-134E I L-13TDOEEMBEIZONTIE., BEF24T (LEANSIHTEZHEEALIZE®) TREBELTLET,




